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Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2025

ECONOMICS (SUBJECT CODE - 030)
(PAPER CODE - 58/6/3)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In Class XIll, while evaluating competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall
be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v)while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the left-
hand margin and encircled. This may be followed strictly.

XIl_030_58/6/3_Economics_2025 # Page-1




If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view
of the reduced syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e Wrong question wise totaling on the title page.

e \Wrong totaling of marks of the two columns on the title page.

e \Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (0)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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MARKING SCHEME
Senior School Certificate Examination 2025

ECONOMICS (Subject Code-030)
[Paper Code: 58/6/3]

Maximum Marks: 80

deposits would be : (Choose the correct option to fill in the blank)

I\?O' EXPECTED ANSWER / VALUE POINTS Marks
SECTION -A
(Macro Economics)
1. Identify, which of the following is not a source of demand for foreign exchange.
(Choose the correct option)
(A) Imports of goods and services
(B) Gifts by Indians to their families living abroad
(C) Indian tourists visiting foreign countries
(D) Loans from Rest of the World
Ans. (D) Loans from Rest of the World 1
2. Using the given information, complete the following table:  (Choose the correct option)
Income () Savings Consumption Average
(in X crore) (in X crore) (in X crore) Propensity to
Consume (APC)
0 () 30 -
100 0 ...(ih)... 1
200 30 170 0.85
300 60 240 0.8
Options:
(A) 30, 120
(B) 30, 120
(©)0,70
(D) -30, 100
Ans. (D) -30, 100 1
3. Central Bank can decrease the money supply in the economy by :
(Choose the correct option to fill in the blank)
(A) lowering the cash reserve
(B) increasing the bank rate
(C) lowering the bank rate
(D) purchase of G-Secs (Government Securities)
Ans. (B) increasing the bank rate 1
4, Suppose in an economy, planned spendings are greater than planned outputs.
Identify the correct option with respect to effects on the economy:
(i) Decrease in planned inventories in the economy
(i) Rise in National Income
(iii) Decrease in real output level in the economy
(iv) Decrease in employment level in the economy
Options:
(A) Only (i) (B) (i) and (ii)
(C) (iii) and (iv) (D) (ii), (iii) and (iv)
Ans. (B) (i) and (ii) 1
5. If the total credit created by the banks is ¥ 500 and Reserve Ratio is 20%, the value of primary
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(A) Z 200 (B) T 300
(C)X 100 (D)X 500
Ans. (C)X 100

6. If the value of Investment Multiplier (K) is 5, the relevant saving function would be
: (Choose the correct option to fill in the blank)
(A)S=-60+0.25Y
(B)S=-60+0.75Y
(C)S=-60+0.20Y
(D)S=-60+0.60Y
Ans. (C)S=-60+0.20Y
7. Identify, which of the following items will not be included in estimating National Income of
India. (Choose the correct option)
(A) Salary to Indian residents working at the Russian Embassy in India
(B) Income generated from smuggling
(C) Payments to farm workers in the form of foodgrains
(D) Interest paid by a firm to a bank
Ans. (B) Income generated from smuggling
8. If an upward sloping straight line consumption function makes an intercept at the Y-axis at
a positive coordinate, it implies that Marginal Propensity to Consume (MPC) and
Average Propensity to Consume (APC) as the income increases.
(Choose the correct option to fill in the blanks)
(A) remains constant, rises (B) rises, rises
(C) remains constant, falls (D) falls, falls
Ans. (C) remains constant, falls
9. Read the following statements carefully:
Statement 1: The price of a given currency in terms of another is known as bank rate.
Statement 2: Demand curve for foreign exchange is a downward sloping curve.
In the light of the given statements, choose the correct option from the following:
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
Ans. (B) Statement 1 is false and Statement 2 is true.
10. | Read the following statements — Assertion (A) and Reason (R) carefully. Choose the correct
option from those given below:
Assertion (A): Other things remaining constant, devaluation of domestic currency may lead
to rise in National Income of the nation.
Reason (R): Devaluation of domestic currency refers to reduction in the value of domestic
currency by the government with respect to foreign currency under the fixed exchange rate
system.
Options:
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
Ans. (B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).
11. | Distinguish between Current account and Capital account.
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Ans. Current account records receipts and payments of foreign exchange on account | 1%
of trade in goods and services and transfer payments. Components of current account
includes export and import of goods and services and transfer payments to/from
abroad.
Whereas;

Capital account records receipts and payments of foreign exchange on account of such | 1%
transactions, which affects change in ownership of assets or liabilities of a nation.
Components of capital account includes Foreign Direct Investments (FDIs), Foreign
Institutional Investments (FIIs), external borrowings and assistance.

(Or any other valid explanation to be awarded marks)

3
12. | Calculate Domestic Income (NDPrc) from the data given below:
(@) S. No. Particulars Amount
(in X lakh)
0) Gross National Product at market price 2,500
(i) Consumption of fixed capital 200
(iii) Goods and Services Tax 20
(iv) Subsidies 50
(v) Net Factor Income from Abroad 50
(vi) Changes in Stock 30
(vii) Unexpected loss of a fixed asset 500
Ans. Domestic Income (NDPrc) = (i) — (i) — (v) — {(iii) — (iv)} 1%
= 2,500 — 200 — 50 — {20 — 50} 1
=% 2,280 lakh Yo
OR 3

(b) | Define Net Factor Income from Abroad (NFIA) and discuss its components.
Ans. Net Factor Income from Abroad (NFIA) is the difference between factor income | 1%
received from the rest of the world and factor income paid to the rest of the world.
Components of NFIA:

e Net Compensation of Employees (COE) refers to the difference between Yo
compensation earned by normal residents from abroad and compensation paid
to non-residents working within domestic territory.

e Net Income from Property and Entrepreneurship refers to difference between
income earned by residents from rent, interest, and profits and similar | %
payments made to non-residents.

e Net retained earnings refers to difference between retained earnings of resident
companies overseas and foreign companies operating domestically. 2

13. | “In the 1990s, on the advice of Reserve Bank of India (RBI), the Government of India took
a decision of hypothecation of gold reserves to different nations.”

In the light of the above statement, discuss briefly the role of the Central Bank as Banker,
Agent, and Adviser to the Government.
Ans. Central Bank acts as the banker to the government. It accepts receipts and makes 4
payments for the government, and carries out exchange, remittance and other banking
operations. The Central Bank also provides short-term credit to the government, so that
the government can meet any shortfalls in receipts over disbursements.
As the government’s banker, the Central Bank also has the responsibility of managing
the public debt.
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As indicated in the above text, the Central Bank also advises the government on various
financial, economic and monetary matters. (To be marked as a whole)

14.
(@)

(b)

“An economy is operating at under-employment level of income.”
What does this situation indicate? Discuss any one fiscal measure to tackle this situation.
Ans. The aforesaid situation indicates the problem of Deficient Demand.
To tackle the situation of Deficient Demand in the economy, the government may
decrease the tax rate which may increase the disposable income (purchasing power) in
the hands of the general public. Consequently, it may lead to a rise in Aggregate
Demand (AD), thereby correcting the situation of deficient demand.

(Any other valid measure to be awarded marks)

OR

Elaborate using a hypothetical numerical example, how a given initial increase in investment
affects the level of final income of the economy.
Ans. The working of the multiplier is based on the fact that one’s expenditure is
another’s income. Suppose the increase in investment is (AI) by ¥ 1,000 crore and the
Marginal Propensity to Consume (MPC) is 0.8:

Round Increase in Increase in | Increasein | Increase in
Investment income consumption |  savings
(AD) (AY) (AC) (15)
(in crore) (in crore) (in crore) (in crore)
1 1,000 1,000 [ 800 200
2 — 800 A/__/> 640 160
“1,
3 — 640 512 128
Total 1,000 5,000 4,000 1,000

Thus, the above table reflects an increment in investment (Al) of X 1,000 crore, which
results in multiple effect on income. Thereby, increasing income to X 5,000 crore.

Working Note:
K= 1 = 1 =5
1-MPC 1-08

— &Y

K=
Al
AY

~ 1,000
AY=7% 5,000 crore

(To be awarded as a whole)
(No marks to be awarded for working notes)
(Any other valid numerical example to be awarded marks)

15. | Estimate the value of Aggregate Demand (AD) in an imaginary economy:
(i) Autonomous Investment (lo) = % 100 crore

(it) Marginal propensity to consume (MPS) = 0.2

(iii) Level of Income (Y) =X 4,500 crore

(iv) Autonomous Consumption Expenditure (¢) = X 50 crore

Ans. Given, Marginal propensity to consume (MPC) = 0.2
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As we know, Aggregate Demand (AD) =C + |
=c+ (MPC) Y+ 1
=50+ (0.2) x 4,500 + 100
=3 1,050 crore

el e

Alternate Solution:
Given, Marginal propensity to Save (MPS) = 0.2
Marginal Propensity to Consume (MPC) =1 - MPS

=1-0.2
=0.8
As we know, Aggregate Demand (AD) =C + | 1
= ¢+ (MPC) Y+ 1
=50 + (0.8) x 4,500 + 100 1
=% 3,750 crore 1
4
16. | (i) Suppose, there are only three firms in a hypothetical economy, viz. A, B, and C. During
(@) | agiven period of time, the following transactions were undertaken by them:
(I) Firm A sold goods worth X 2,000 to Firm B and X 1,200 to Firm C.
(I1) Firm B sold goods worth X 1,100 to Firm A and X 3,500 to Firm C.
(1) Firm C sold to households for final consumption, goods worth X 5,700.
Estimate the value of Net Domestic Product at Market Price (NDPwmp) assuming depreciation
to be X 120.
Ans.
Firms| Value of Output Intermediate Consumption Value Added
(in3) (in ¥) (in3)
(i) (ii) {(i) - (i)}
A 2,000 + 1,200 1,100 2,100 72
B 1,100 + 3,500 2,000 2,600 ”
c 5,700 1,200 + 3,500 1,000 %
13,500 7,800 5 700
Gross Domestic Product at Market Price (GDPwp) ’ &
Net Domestic Product at Market Price (NDPwmp) = GDPwmp — Depreciation A
= 5,700 - 120
=% 5,580 Yy

(ii) Explain the likely impact of the construction of 2000 new schools providing high-quality
education in a nation on Gross Domestic Product and welfare in an economy
Ans. The construction of 2,000 new schools may impact the Gross Domestic Product
(GDP) positively as construction generally attracts higher investments in an economy 3
and may lead to an increase in employment opportunities. It may lead to provision of
high-quality education, enhancing knowledge, skills, efficiency and increasing civic
engagement. Consequently, the well-being of citizens will increase.

(To be marked as a whole)

OR 6

(b) | (i) Distinguish between Real Gross Domestic Product (GDP) and Nominal Gross Domestic
Product.

Ans. Real Gross Domestic Product (GDP) is the money value of all the final goodsand | 1%
services produced in the domestic territory of an economy, measured at base year
prices.

Whereas;
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Nominal Gross Domestic Product (GDP) is the money value of all the final goods and
services produced in the domestic territory of an economy, measured at current year
prices.

(i) As per a news report dated April 11, 2023:
“Electric Vehicle sales crossed one million marks in FY 2023.”
Analyse its impact on Gross Domestic Product (GDP) and economic welfare.

Ans. The increased sales of Electric Vehicles (EVs) is expected to have positive impacts
on both Gross Domestic Product (GDP) and welfare. An increase in the sale of EVs
directly contributes to the value addition, in turn GDP of an economy. Moreover, EVs
are eco-friendly as they do not produce pollutants and are energy efficient.
Consequently, the well-being of citizens will increase thereby creating positive

externalities. (To be marked as a whole)
Note: The following question is for the Visually Impaired Candidates only in lieu of Q. No.
16 (b) (ii).

Explain how, ‘non-monetary transactions’ in an economy act as a limitation of using GDP
as an indicator of welfare.

Ans. There are many goods and services that may contribute to welfare in an economy
but may not be included in the estimation of Gross Domestic Product (GDP). These
transactions are referred to as ‘non-monetary transactions’. Transactions like
domestic services rendered by a homemaker contribute to welfare but are not included
in the estimation of GDP as they are not paid for. (To be marked as a whole)

1%

17.

Read the following text carefully:

Government provides certain goods and services which cannot be provided by the market
mechanism. Examples of such goods are national defence, roads, government
administration, etc. which are referred to as public goods.

There are two major differences between public and private goods. One, the benefits of
public goods are available to all and are not only restricted to one particular consumer. For
example, if a person wears a shirt, it will not be available to others. It is said that this person’s
consumption stands in rival relationship to the consumption of others. However, if we
consider a public park or measures to reduce air pollution, the benefits will be available to
all. One person’s consumption of a good does not reduce the amount available for
consumption for others and so several people can enjoy the benefits, that is, the consumption
of many people is not ‘rivalrous’.

Two, in the case of private goods, anyone who does not pay for the goods can be excluded
from enjoying its benefits. If you do not buy a ticket, you will not be allowed to watch a
movie at a local cinema hall. However, in the case of public goods, there is no feasible way
of excluding anyone from enjoying the benefits of the good. That is why public goods are
called non-excludable. Even if some users do not pay, it is difficult and sometimes
impossible to collect fees for the public good. These non-paying users are known as ‘free-
riders’. Consumers will not voluntarily pay for what they can get for free and for which there
IS no exclusive title to the property being enjoyed. The link between the producer and
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consumer which occurs through the payment process is broken and the government must
step in to provide for such goods.
On the basis of the given text and common understanding, answer the following questions:

(@) Describe how the Government’s role in providing public goods impacts community
welfare.
Ans. Public goods refer to those goods and services which cannot be provided by the
market mechanism. The government’s provision for public goods ensures the
availability of goods that can be collectively consumed by the public where one person’s
consumption of a good does not reduce the amount available for consumption for
others and so several people can enjoy the benefits, thus promoting community welfare.
(To be marked as a whole)

(b) Define free-riders. Explain the challenges posed by the free-riders in the context of public
goods.

Ans. Non-paying users of public goods are known as ‘free-riders’.

People do not pay for public goods as they are available free of cost, to one and all. The
government must intervene to provide such non-exclusive goods, as these goods are not
owned by individuals. Thus, the financial burden of public goods is borne by the
government.

SECTION-B
(Indian Economic Development)

18. | Which of the following country/countries followed the Five-Year Planning structure of
economic development? (Choose the correct option)
(i) India (ii) China
(iii) Pakistan (iv) USA
Options:
(A) (i), (i) and (iii) (B) (ii) and (iii)
(C) (i) and (iv) (D) Only (iv)
Ans. (A) (i), (i) and (iii)
19. | Read the following statements carefully:
Statement 1: Employment is an activity which enables a person to earn means of livelihood
for his/her family.
Statement 2: A worker is the one who contributes to the process of Gross Domestic Product
(GDP) by rendering his productive services.
In the light of given statements, choose the correct option from the following:
(A) Statement 1 is true and Statement 2 is false.
(B) Statement 1 is false and Statement 2 is true.
(C) Both Statements 1 and 2 are true.
(D) Both Statements 1 and 2 are false.
Ans. (C) Both Statements 1 and 2 are true
20. indicator may be defined as the measure of the extent of demographic
participation in social and political decision-making.
(Choose the correct option to fill in the blank)
(A) Economic (B) Liberty
(C) Health (D) Demographic
Ans. (B) Liberty
21. | White Revolution is associated with

(Choose the correct option to fill in the blank)
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(A) Horticulture (B) Fisheries

(C) Dairy Production (D) Animal Husbandry
Ans. (C) Dairy Production
22. | In China, under , peasants were provided with pooled land to create larger fields
that could yield greater output and they shared farm implements.
(Choose the correct option to fill in the blank)
(A) Joint Farming System
(B) Commune System
(C) Great Proletarian Cultural Revolution
(D) Green Revolution
Ans. (B) Commune System
23. | Read the following statements — Assertion (A) and Reason (R) carefully. Choose the correct
alternative from those given below:
Assertion (A): The year 1921 is called as the Year of Great Divide.
Reason (R): After the year 1921, India experienced a sharp rise in its population growth rate.
Options:
(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct explanation of
Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct explanation
of Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.
Ans. (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).
24. | Mao initiated the ‘Great Leap Forward’ movement in the year .
(Choose the correct option to fill in the blank)
(A) 1951 (B) 1955
(C) 1958 (D) 1962
Ans. (C) 1958
25. | “The Indian Government adopted a policy of fixing maximum land holding limit (ownership)
for an individual.”
It is commonly known as . (Choose the correct option to fill in the blank)
(A) Green Revolution (B) Land Ceiling
(C) Marketable Surplus (D) Golden Revolution
Ans. (B) Land Ceiling
26. | Study the following image and identify the measure adopted by the Government to improve

agricultural marketing. (Choose the correct option)

(A) Cooperative credit societies (B) Regulated markets
(C) Transportation facilities (D) Dissemination of information
Ans. (B) Regulated markets
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Note: The following question is for the Visually Impaired Candidates only in lieu of Q. No.
26.

Identify, which of the following measure is not adopted by the government to improve
agricultural marketing.

(A) Cooperative credit societies

(B) Unregulated markets

(C) Better transportation facilities

(D) Dissemination of information 1
Ans. (B) Unregulated markets

27. | ldentify, which of the following correctly defines liberalization.

(Choose the correct option)
(A) Outright sale of part of shares of Public Sector Undertakings (PSUs)
(B) Increased integration with the rest of the world
(C) Removal of restrictions imposed by government on different sectors of the economy
(D) Focus on import substitution
Ans. (C) Removal of restrictions imposed by government on different sectors of the 1
economy

28. | “During the British rule, contribution of industrial sector to the Gross Domestic Product

(@) | (GDP) remained very low.”

Justify the given statement with valid arguments in support of your answer.

Ans. Under British rule, India’s industrial sector remained underdeveloped due to the

systematic deindustrialization policy of the colonial government. The British aimed to

make India an exporter of raw materials and a market for British finished goods. 3

The British policies led to the decline of the indigenous handicraft industry and lack of

capital goods industries, keeping their contribution to the Gross Domestic Product

(GDP) minimal. (To be marked as a whole)
OR

(b) [“The real motive behind infrastructural development under the British rule was not to provide

basic amenities to the people of India but to subserve various colonial interests.”

Do you agree with the given statement? Give valid reasons in support of your answer.

Ans. Yes. Basic infrastructure such as railways, posts and telegraphs were developed to

serve the interest of the colonial regime. Roads and railways were built primarily to

mobilise the army within India, drawing out raw materials from the countryside. In 3

addition, communication tools like telephone and telegraph were introduced to

maintain law and order.

Thus, the real motive behind this development was not to provide basic amenities to the

people of India but to serve various colonial interests. (To be marked as a whole)

29. | On the basis of the given image, explain the source of human capital formation which may
contribute to the economic growth in India.

.‘,,m.‘.

XII_030_58/6/3 Economics_2025 # Page-11




Ans. The source of Human Capital Formation (HCF) indicated in the given image is
investment in education.
Education provides knowledge to understand changes in society and scientific
advancements. It stimulates inventions and innovations in the economy. Similarly, the 3
availability of an educated labour force facilitates adaptation to new technologies.
Technical skills acquired through education provide an opportunity to make better use
of given resources thereby promoting the economic development of the nation.

(To be marked as a whole)
Note: The following question is for the Visually Impaired Candidates only in lieu of
Q. No. 29.
Explain ‘Investment in Education’ as a source of human capital formation.
Ans. Education provides knowledge to understand changes in society and scientific
advancements. It stimulates inventions and innovations in the economy. Similarly, the 3
availability of educated labour force facilitates adaptation to new technologies.
Technical skills acquired through education provide an opportunity to make better use
of given resources thereby promoting economic development of the nation.

(To be marked as a whole)

30. | “Itis necessary to generate more employment in the formal sector rather than in the informal
sector.”

Justify the given statement with valid arguments.

Ans. The formal sector workers can form trade unions and are entitled to fair wages
and other social security measures. However, workers in the informal sector do not get 4
regular income. Additionally, they do not have any protection/regulation from the
government. Many a times, workers may be dismissed without any compensation.
Hence, formal sector employees are generally in a better position as compared to
informal sector employees. Therefore, it is essential to generate employment in the
formal sector rather than the informal sector. (To be marked as a whole)

31. | Evaluate any two factors that led to the rapid growth in economic development in China.
Ans. Two factors that led to economic development in China are:

¢ In the initial phase, reforms were initiated in agriculture, foreign trade and
investment sectors. In agriculture, commune lands were divided into small plots, 2
which were allocated (for use not ownership) to individual households. They
were allowed to keep all income from the land after paying stipulated taxes.

e In the later phase, reforms were initiated in the industrial sector. Private sector
firms (owned and operated by local collectives) were allowed to produce goods. 2
Subsequently, enterprises owned by the government were made to face
competition. (Any other valid factor to be awarded marks)

32. | “IT can play a critical role in achieving sustainable development and food security in the

(@) | 21st century in the country.”

Justify the given statement with valid arguments

Ans. Information Technology (I1T) plays a crucial role as it can help the government to

predict areas of food insecurity and vulnerability. Using appropriate information and 4

software tools, timely action can be taken to prevent/reduce the likelihood of an

emergency. It helpsindisseminating information regarding emerging technologies and

their applications, prices, weather and soil conditions for growing different crops etc.
(To be marked as a whole)

OR
(b) Explain the importance of credit availability in rural development.
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Ans. Growth of rural economy depends primarily on infusion of capital, from time to
time, to realise higher productivity in agriculture and non-agriculture sectors. As the 4
gestation period (duration between crop sowing and realisation of income after
production) is quite long, hence rural credit is required to meet their initial investment
needs of seeds, fertilizers, implements, etc. along with other family expenses.

(To be marked as a whole)

33. | (1) “Globalisation has been a process for India with only positive results.”

(a) | Defend or refute the given statement with valid explanation.

Ans. The given statement is refuted. The process of globalisation has produced positive
as well as negative results for the Indian economy. With the creation of a borderless
world, the Indian economy has greater access to global markets and latest technology. 3
On the contrary, globalisation made it easier for developed countries to expand their
markets in other countries, compromising the welfare of people belonging to these
countries. Consequently, it has also widened the economic disparities among nations
and people.

(i1) “The goal of equity was served by ‘Abolition of Intermediaries’ in agriculture in the post
independence period.”

Do you agree with the given statement? Support your answer with valid explanation

Ans. No. The goal of equity in agriculture was not fully served by the abolition of
intermediaries, as in some areas the erstwhile zamindars continued to own large areas
of land by making use of the loopholes in the legislation. There were cases where tenants 3
were evicted and the land owners claimed to be self-cultivators. Even when the tillers
got ownership of land, the poorest of the agricultural labourers did not benefit from
land reforms. (To be marked as a whole)

OR 6

(b) | (i) “Farm subsidies put a huge burden on the government finances, but are necessary for poor
and marginal farmers.”
Justify the given statement with valid explanation.
Ans. The introduction of farm subsidies had been an opinionated step taken by the
Government of India.
Arguments in favour of continuing farm subsidies:
e Most farmers (small and marginal) may not be able to afford expensive | 1%
agricultural inputs without subsidies.
Arguments against farm subsidies:
e Itis often argued that farm subsidies have helped the fertilizer industry much | 1%
more than helping the needy farmers.
(Any other valid explanation to be awarded marks)

(ii) Discuss briefly the role of small scale industries in generating of employment and equity
in India under the planning period.

Ans. Small Scale Industries (SSIs) have played a significant role in the growth journey
of India. SSls require less capital and are highly labour intensive. Thus, in a labour-
abundant economy like India, they have generated employment opportunities in both 3
rural and urban areas. To support these industries, the production of some goods was
reserved and were also given concessions like lower excise duty and bank loans at lower
interest rates. (To be marked as a whole)
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34.

Read the following text carefully:

Growing carbon footprint of industries have put power and steel sector in the spotlight as the
major contributor to the climate crisis. The challenge of climate change can be tackled only
by making our industries and businesses follow practices and processes that reduce their
carbon footprint. It can be possible only with green financing.

Green financing aims to increase the level of financial flows (from banking, micro-credit,
insurance and investment) from the public, private and not-for-profit sectors to sustainable
development priorities.

Global green finance has also started chasing Indian companies. Global development finance
institutions and funds are ready to offer long-term support (both equity and debt) at cheap
rates to projects like solar energy and hydropower.

Green finance can positively affect environment quality, economic development and
financial issues that promote the green economy, such as reducing greenhouse gas emissions,
improving energy efficiency or enhancing the organic economy.

On the basis of the given text and common understanding, answer the following questions:

(a) State the meaning and objective of green finance.

Ans. Green finance refers to the practices and processes that industries and businesses
should follow to reduce carbon footprints.

The aim of green financing is to increase the level of financial flows (from banking,
micro-credit, insurance and investment) from the public, private and not-for-profit
sectors to sustainable development priorities.

(b) Discuss any two benefits of green financing.
Ans. The benefits of green financing are:
e Green finance positively affects environmental quality by reducing greenhouse gas
emissions.
e Improves energy efficiency by investing in projects that promote green economy.
(Any other valid benefit to be awarded marks)

1%

1%

* %k ¥
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Marking Scheme Hindi Medium
Strictly Confidential
(For Internal and Restricted use only)
Senior School Certificate Examination,2025

ECONOMICS (SUBJECT CODE - 030)
(PAPER CODE - 58/6/3)

General Instructions: -

1

You are aware that evaluation is the most important process in the actual and correct
assessment of the candidates. A small mistake in evaluation may lead to serious problems
which may affect the future of the candidates, education system and teaching profession.
To avoid mistakes, it is requested that before starting evaluation, you must read and
understand the spot evaluation guidelines carefully.

“Evaluation policy is a confidential policy as it is related to the confidentiality of the
examinations conducted, Evaluation done and several other aspects. Its’ leakage to
public in any manner could lead to derailment of the examination system and affect
the life and future of millions of candidates. Sharing this policy/document to anyone,
publishing in any magazine and printing in News Paper/Website etc may invite action
under various rules of the Board and IPC.”

Evaluation is to be done as per instructions provided in the Marking Scheme. It should not
be done according to one’s own interpretation or any other consideration. Marking Scheme
should be strictly adhered to and religiously followed. However, while evaluating,
answers which are based on latest information or knowledge and/or are innovative,
they may be assessed for their correctness otherwise and due marks be awarded to
them. In Class Xll, while evaluating competency-based questions, please try to
understand given answer and even if reply is not from marking scheme but correct
competency is enumerated by the candidate, due marks should be awarded.

The Marking scheme carries only suggested value points for the answers. These are in the
nature of Guidelines only and do not constitute the complete answer. The students can
have their own expression and if the expression is correct, the due marks should be
awarded accordingly.

The Head-Examiner must go through the first five answer books evaluated by each
evaluator on the first day, to ensure that evaluation has been carried out as per the
instructions given in the Marking Scheme. If there is any variation, the same should be zero
after delibration and discussion. The remaining answer books meant for evaluation shall
be given only after ensuring that there is no significant variation in the marking of individual
evaluators.

Evaluators will mark( \ ) wherever answer is correct. For wrong answer CROSS ‘X’ be
marked. Evaluators will not put right (v) while evaluating which gives an impression that
answer is correct and no marks are awarded. This is most common mistake which
evaluators are committing.

If a question has parts, please award marks on the right-hand side for each part. Marks
awarded for different parts of the question should then be totalled up and written in the left-
hand margin and encircled. This may be followed strictly.
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8 If a question does not have any parts, marks must be awarded in the left-hand margin and
encircled. This may also be followed strictly.

9 If a student has attempted an extra question, answer of the question deserving more marks
should be retained and the other answer scored out with a note “Extra Question”.

10 No marks to be deducted for the cumulative effect of an error. It should be penalized only
once.

11 A full scale of marks 80 has to be used. Please do not hesitate to award full marks if the
answer deserves it.

12 Every examiner has to necessarily do evaluation work for full working hours i.e., 8 hours
every day and evaluate 20 answer books per day in main subjects and 25 answer books
per day in other subjects (Details are given in Spot Evaluation Guidelines). This is in view
of the reduced syllabus and number of questions in question paper.

13 Ensure that you do not make the following common types of errors committed by the
Examiner in the past:-

e Leaving answer or part thereof unassessed in an answer book.

e Giving more marks for an answer than assigned to it.

e \Wrong totaling of marks awarded on an answer.

e Wrong transfer of marks from the inside pages of the answer book to the title page.

e \Wrong question wise totaling on the title page.

e \Wrong totaling of marks of the two columns on the title page.

e \Wrong grand total.

e Marks in words and figures not tallying/not same.

e Wrong transfer of marks from the answer book to online award list.

e Answers marked as correct, but marks not awarded. (Ensure that the right tick mark is
correctly and clearly indicated. It should merely be a line. Same is with the X for
incorrect answer.)

e Half or a part of answer marked correct and the rest as wrong, but no marks awarded.

14 | While evaluating the answer books if the answer is found to be totally incorrect, it should
be marked as cross (X) and awarded zero (O)Marks.

15 Any un assessed portion, non-carrying over of marks to the title page, or totaling error
detected by the candidate shall damage the prestige of all the personnel engaged in the
evaluation work as also of the Board. Hence, in order to uphold the prestige of all
concerned, it is again reiterated that the instructions be followed meticulously and
judiciously.

16 The Examiners should acquaint themselves with the guidelines given in the “Guidelines
for spot Evaluation” before starting the actual evaluation.

17 Every Examiner shall also ensure that all the answers are evaluated, marks carried over to
the title page, correctly totalled and written in figures and words.

18 The candidates are entitled to obtain photocopy of the Answer Book on request on payment

of the prescribed processing fee. All Examiners/Additional Head Examiners/Head
Examiners are once again reminded that they must ensure that evaluation is carried out
strictly as per value points for each answer as given in the Marking Scheme.
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3 FiorT
iR wpa aféfthae uRier, 2025
AYRA ( fawy H1s -030)
[UY-UF HIS : 58/6/3]

3Ifrpdd 3id : 80

.9

iféra SR/ a fag

Wug - b
Y )

UgaH S fop, FufeRad & T -1 fad=h g1 ot A &1 Ue A F876 |
(ot fadhed &1 =g HIfST)
(A) T3 3R arait w1 smard

(B) HRGI! gRT fagr # Y8+ aTa 310 URaR! &1 SUER
(C) facwr um=n R oM a1 YR wies

(D) RN fa%y & T BT

IR - (D) XY fIy | ure Bor

&l 7T YT BT IUART & gU, FMafciRad diferesT &l gR1 HIforT:
(el fddhed &1 g DIy
3T (Y) CEn] SUYURT ST IUHRT ugfy
RPISH) | RFISH | @FIsH) (APC)
0 - (i).. 30 -

100 0 (ii).. 1
200 30 170 0.85
300 60 240 0.8

fameu:

(A) -30, 120

(B) 30, 120

(©) 0,70

(D) -30, 100
3 - (D) -30, 100

HEdd _ gR1 riqaRT H gaT yfd § S IR gdhdl 7
(Rerd R 1 el o fo7g et faebed 1 =g Bty
(A)W&Wﬁﬁﬁw

(8) 3P XA I

(C) 9 R H B

(D) G-Secs (ﬂwrﬁcri%r{%u‘f) & B
W - (B) Y& R A (X

A o, foredt srfeawut # fRaifSrd oo fRaifsrd IareT 3 siffie B
3 1Ts fRUfd & 3rfouawyt 1R uHEe & Ty § Tg! faded ot ugad Sifoe:
(i) G{WHﬁﬁTﬁﬁﬁqmﬁ?ﬁ (inventories) T &

(i) T o H gfs

(i) 3R H ardfae IaeT TR | S

(iv) TR H ISR TR # HHI

faoeu
(A) BT (i) (B) (i) AR (i)
() (iii) 3R (iv) (D) (ii), (iii) 3MR (iv)

IR - (B) (i) 3R (ii)

1
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aﬁéaﬁmgqﬁmw 3500 §, TUT SMRF&d U 20% ¢, 1 URINSE STHT &1 Yoo

(R = 1 gfd & fore It fasbed o1 = Bifo)
(A) 2200 (B) 300
(C) 3100 (D) 500
I - (C) 100
6. | e NI UM (K) BT HH 5 3, df UKRIh said Had el
(R = ) off & e wet e &1 90 SR

(A)S=-60+025Y
(B)S=-60 +0.75Y
(€)S=-60+020Y
(D)S=-60 +0.60Y
3T¥ - (C)S=-60+0.20Y

Eaﬁﬁﬂﬁ? fafeiad & 9 $19-dl /g HRd 31 AP S & 3T | FiRferd ol 31

(el f[dmed &1 g PIfvY)
(A) HRA T =4 gala # SRRd HRd1g fAam! & g aaq
(B) d%B<1 W BIF Tl 31
(C) PV SHTHhT ! WL &b FU H YT
(D) Tl wH GRT deF &1 YT fordlT 1T STt
IR - (B) TP | BIF ITei 34

afe Teh ST @I (upward sloping) HTHT a1 STHRT the, Y-31éf o fohll ThRIcTD
(coordinate) R d:TS (mtercept) dHTdl % a ERED HT(CRJCZI_S’EWT% &Wﬁq@

B R AT IUHITUGRI(MPC) QT NI SUHMTUgRi (APC)
(ﬁﬁﬁ@ﬂﬁﬁgﬁ%fmﬂ%ﬁﬁwmwﬁm
() RR M, 1 gfe grft (8) § gf Bfl, H g Bl
(€) RR 3h, # firmge grft (D) H fiRTae 8, # fiRTae grft
I - (€) FRR @M, A firTge grft
9. | FHfaRad HuAl & FgE® ufeu :

FYy7 1 Tt 3R go1 & Wa B € 1 OoT 3 H1Ad B S &R HgT o1l 7
7 2 faexit ga1 o) 91 g - B 3R STe[ J% BT 3

I U HYAEl & 3l §, Fufafaa # 9 98t fldwen o1 999 S :

(A) PYT 1 T § 3R HYF 2 3T g

(B) HYU 1 3 § 3R HY 2 T g

(C) BYF 1 3R 2 G T

(D) YT 1 3R 2 Tl 3T B

IR - (B) PYT 1 3T € MR PFYT 2 I 2|

10.

frafoRad HuAT - 3fi®HYT (A) 3R HRUT (R) BT AMYGS UieU|
i fau ¢ fawedl B 9 98l fadwed &1 ag- Bife:
SHHEYT (A): aﬂ%ﬁgwwﬁw IR HST b AT ¥ 4R i AP 31 H Jfeg B
|
BRI (R): RS HaT & 3aqed § gy FRR fafma oz yomelt & siavfd TReR gry fagef
Hart & ey H R GaT b Jed J HH B

(A) 3HBHYT (A) 3R BRUT (R) S T & 3R HRUT (R), ATUHYUT (A) Pt T8t SIRST AT 5 |
(B) 3{%%24:[ (A) 3R BRI (R) SHI T &, AT BRI (R), THBYUT (A) P! Tet ARST T8l
HIAT |

(C) TUBYT (A) T B, Afthd BRI (R) 3T B

(D) 3MfHBYUT (A) 3T g, AfhT PRI (R) I g

I - (B) THBYT (A) 3R PRI (R) 1 G ©, Afb- BRI (R), ATHBYT (A) BT GET
TR AE1 Bl gl
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11.

TTe W qUT goit @d # fade Hif |

FR: T W1 a&g3it 3R Aa13ii & ATIR YT FEAARVT YT & HRUT fIS=i gor o
et iR YT &) SfUATRET wear 81 919 W & gD d avgeli 3R Aarsii &1
fPrata ez smara quT fadwr A/fAdwr &) sxaiarur Ya afdfea ga 3

Trlﬂ'ﬁ?;

Uolt @1 T A P PRI FAh gor &1 wifterat 3R yErai &1 ftafad sar g, st
fpelt o Tt ufkwufal a1 Saeial & w@ifirea d aiad= &) gvifaa swar 81 ot @
& gl | fadxi ucer A= (rp1), fae=i Swumma A= (Fn), S8 BT 9uT Seran

1%

1%

gferfera gia 81 (311 P13 Y RS B 3 S fbd AT )
3
12. | = U U 3fiw 3l GRT TR 3T (NDPxc) & TUMT HIFT - .
@) &
7 faaer (¥ TRG T)
() | TSR Yo R Yehel AP IdTq 2500
G | R Yoft 1 IuiT 200
(i) | 9% 9 HaT R 20
(iv) |JUaH 50
(v) | TR O U Y IR 31 50
i) | %Te H uRada 30
(vii)y | It uREufy & surRid giiH 500

JT - TG 3T (NDPec ) = (i) - (i) - (v) - {(ii) - (iv)}
= 2,500 - 200 - 50 - {20 - 50}
= ¥ 2,280 AT
3y
IR T U e 1 31 (NFIA) BT GRHINT BT TUT SUDb °edh! Bl RS HIToT|
R - fIexT | Y FR® 3T (NFIA), Y fIy I et $R® M7 3R AW {4y &1 Y=
P T3 PR 3T & d1 FT 3R 2
fad=I & T [ AT ST (NFIA) & UE®:
o  HHAIA! BT Y& TIRHAS (COE), fad=n & ¢ & " fFarfal gry sifvfa
TRl SR T &F W &8 HA a1 WR-fFariya #1 R oM ara wikyfire
& U P iR B Aehid Hedar g
o Juftr 3R IAffaT A I 34, foHm, s SR @1y | 3 & [ fRariat
ar1 SifSfa emg ok a7 o oW H1 a1 WR-Faf # fFe v uE=
YA & T &b 3R B Tefdld Heat gl
o Y= ufauia om, fad=n # gr el dufal ok g TR R oW $A
arelt fae=f sufaal @1 ufaenfea sma & v & oiaw & Hefifa wwdt 81

1%

b

1Y%

b

b3

b

13.

"1990 & &R H, HRdIF Rerd b (RBI) BT Yellg W, HRd WHR A fafte A9f & U wof
YeR &1 fIRd! T@ o1 Fufy ferar ur-

STad HY & 3MAP H, WBR & aHhR, Toic g TAGHR & ¥4 H H41T dF B YHHT R
e H == Sifer|

I L b WPR & T dHY F ©U & SR HIdT g1 I8 WPR P forg e
ISR HaT & 9 YA Hal g, 741 fafmg, dwor ok s S ufares &= 21
P 9F WPR P cudiferd HBU H USH HIAT g, difd WPR Ifaawur
(disbursements) T TfGral 5t feft off Hit H) R H T&F | TWHR & dv & U H,
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4 dF & U Frdwe BT P g ot SRt ff gidt 81 S fF SwRie e o
Hbfad 8, PE §o WHR o1 Al faxdiia, snfife ok @ifse ggi w— ware it ar 81
(QR IR B! TP 1Y Sifora far wim)

T IR 3T F 3-SR TR TR HIerd ol el 81"

Tg fRufa o gicht 52 39 fufa § fAues & fore fansdt v Yo ia o wR ==t Siforg

IR - <t 73 FRUFT =g7-7171 & o & it g1

SrfegawyT o <H-Ui 3 AT I Fges F RO, ReR o $t R B $H B bl 8

TR S s AT & BTl A vy oMy (4 W) W 9fS 8 el 81 ufkumiassy, g8

TUY 9T (AD) ¥ i =TT 8, R =g7-7iv &1 TG 1 St far s awar 21
(P oft 3 fopeft v SuTa & R ot oi e U wmy)

3T

TS HIU-d THD I&TeR0 BT IYIN Hh IR ¥ Fa18U fob, 9% & & T8 URMAS

i srforawn & Sifaw Mg & WR & HY THIAd Bl ]

SR - U B fobar 59 @ R nuTa ¢ 1% fonsdt Uop &1 o gar &Y oma gt 81

w%ﬁﬁmﬁq@a 1,000 FRIS) & 3R HiHid SUURT ugfi (MPC) 0.8 &:

| AR
(Al)
@ TS H)

Mg H gfg
(aY)
R WIS H)

SUURT | gf3
(aC)
R IS H)

sAdH gfS
(AS)
@ RIS H)

1 1,000
2 —

3 —_

1,000

800 o~ ;

640

4‘{//’

800

640

. 512

200
160

128

TRT 1,000 4,000 1,000

TIeIPT % 1,000 FRIS & 1A% (Al) W gfs &1 a=iidl &, g
WWWWUWW%IW 3T | % 5,000 HIS B Jf3 gIeit g1

1 1
K= = —-=
1-MPC 1-0.8

AY
K=—
Al

Ay

1,000

AY= T 5,000 TS

5,000

(I W DI T A1Y 3ifdbd fbar o)
@14 faarur & forg 13 oiw T8 fur wmy)
(Pt oft 3y wTT =TS Ferevul & forg W of we fpu Wt 1)

15.

TS BIUHD HUTTRIT H THY AR (AD) BT e SHTATT DY:
(i) @A a9 (10, = 100

(ii) T SUHRT Ugfi (MPC) =

(iii) 3T BT TR (Y) = T 4,500 PIS

(iv) ST STHNT &0 (©) = T 50 RIS

F: foar a8, dwia sy vgfi (MPe) = 0.2

ST fP GHSFA €, AHY AT (AD) = C + |

= C+ (MPC) Y+ |
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=50 + (0.2) x 4,500 + 100

= ¥ 1,050 BIS

(i) AT ST o, T S1edi=as SrfcqaRit & &ad o BH A, B 3R C &1 Th M qoamary
& ERM, 3% gRI FEfiied oF-¢ fy U g

() TH A HH B HI 22,000 TUTHH C B 31,200 & eI &1 HId fashd fHaT|

() TH B = TH A DI 21,100 TUTHH C I 3,500 & oI &I HId fdshd bl

(1) B C = TERIT B 25,700 & Yoo & ATd ! Sifad UL & fore fassa fwan|

T8N DI 2120 TFd gU, IT6R T R Y RS 3G (NDPyp) & b 1 SH THNRT
3X:

B | IdTGH BTN aeaadt SUHT aftfa &

@ #) @ ¥) @ #)
(i) (ii) {(i) - (i)}

A | 2,000 + 1,200 1,100 2,100

B | 1,100 + 3,500 2,000 2,600

C 5,700 1,200 + 3,500 1,000

13,500 7,800
SR e R Ghdl °I¥¢ 3AUTG (GDPwe)

TOR G&T R Y[S T STG (NDPwp) = GDPyp — HEIBI
= 5,700 - 120
= ¥ 5,580

(if) TordlY 1y o I TquraraTqul R Ua &3 8 2000 1T fa=qmerdl & Fafor & srforawy

Yhd TR 3G (GDP) d HedTUl R JHTfAd THTAl o1 SRS Hiford |

FTR: 2000 AT Tpdl & AT A FHd TN TG (GDP) W PRIAP YU US THdT @

Fiife frafor ¥ wm=ra: srderawit # it A= smefifa giar 8 SR AR & srawRi

# gf 3 Iwdt 31 SU9 I T[UIEHT aTelt RIS BT UraeT 81 GPdl §, 14, BINE, Gardm

# gf 8 g@dl 3 iR AFR® Teuiffar 9¢ &l 31 RumRawy, 389 ANR®! &

ST | gieg Rt | (X S DI TP A1Y 3ifdpa fHar 9g)
3rYar

(i) IRATAD Thdl TR IS (GDP) T Hifedh bl T IS H fang Hifrg|

SR: TRATAD THd T 3dTG (GDP) fHhlt srefoqawut & o &= A Ianfea weft sifew

aegait 3R Aarsit &1 Mits 7w g, mmmaﬁﬁﬁm‘rwmm%

Hifgs ed Ry SdTg (an)wmm%m%ﬁwﬁaaﬁmaﬁeﬁ

3R Aarait &1 Wifes T €, ﬁﬁmaﬁaﬁaﬂnﬁwmm%

(if) &1 11 3019, 2023 &} TH TR & IR

ﬁﬁuaﬁzozsﬁsﬁmmaﬂﬁﬁwﬁmwmwmnﬁ%r

qHhd IR MG (GDP) T 31 HeTor IR b THTG HT fa=aoor Hifor|

5,700

T - 3
IR: sAfFe® aredl (Ev) B el # i A Tva W IS (GDP) 3R Hed1vr SH1 W
IPRIAS YU TS I 1M g1 EV B ot A i uder 0 & o dad ok

b
b
b

b3
b

b

1%

1%
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URURaEY sferawT Bt GDP ® IRTEM et 7 | §9& HfaRad, EV waiaror & g
g TP T Uguur Iud AL FHRd & MR FHl P gid 3| URUTHRG=Y, AFRSD! B
ST TSI dYT YPRTHAD TATAE SAT N1 (X SR DI Th A1Y 3ifdd forar omg)
e [Agrc@d gy Fa ePanfed gelenfdal & e gy G&7T 16 (@) (i) F R I E /

ﬁ%ﬁ;ﬁMW'%W@-EH'Wéswé?WﬁGDP%Wﬁ

|

IoR: Ut e aeg ok AT € St SrdforawT § Hearur | GNe ¢ Al €, foheg g
WY IATG (GDP) & AT A Tflifera 1Y 8 urelt §1 39 A9-39 &1 " WR-AfSs a=-37
ST o1 8 | TEMrE) GRT WeM @Y oM arelt 9 Jard st wfafafai s & arrem
3ft € WRg GDP & AT § wfdfera 7Y gia € wifer ST Yirar= w18 farar wimar 81

17.

(IR IR DI TP 1Y 3ifsa fHar wmg)
fAfeIRad 7T &1 FFYde ufe :

WRBHR P aegaft qur Jarsfi B! Judsy FHard 8, forg aeR-d & §RT ITA gl HRar
ST Hehell| $ TPR PI 9T & IeTeRU & — IETT TRef, b, WHRT YR 3, g
'{'IICI\JH"IOD d%{lk ol vlidl %l

frst gt dut Irdo-e aeqal # SicR JHT N 71 &1 T 3R & | UgaT ol T,
for T axgy @it & e Iuasy § qur 37y ol ue faRiy Susiiedr dw & difta
51 81 ITERUN & forY, Ife U ol HHIT Ugdl g, ol 98 3 Afckid] & oy Juaisy T
Bl (% BT o Tehd © fob 3 cafda & SUUT auT 31 Safaaa) & SuHT § Ufdgd! Tiaw
& | Qifds1 afe 89 A= UTeh a1 iy UgWUT Ffid i’ & Ul &1 a1 &y, S oy T
& foIU Iuds il | Uh Afdd gRT Uh I 1 SUANT GIRI & oIl Ich ITANT Dt U Dl
HH T8 HUT| 3fc: U 1Y B3 AN SUPBT 1Y 31 Thd &, U T8l dbs AN BT START
fdgglce gl gI|

G, ot axgeit & He §, S afad avgasit & o Yiram 81 Frdl, 37 SHT Aty
IoM ¥ dfed farar ST wava g1 afe oy fewe 9 @RS, af siue! RAar R §f fhed < &t
AT Tt a1 ifes raei-e axgefl & ded ) fordlt @1 ot axg &1 a1y IoM ¥ dfud
FRA B Bl W (BRIR) RIBT 161 ¢ | SHY Adol-1ds aXg3N Bl TR-SUATS1T Bl STl
g1 Ife & IuMiadr YaH &1 ¥t & € o Wt rdefe axgeft & e Yew wehd o
B & g1, ifig 9gd IR 3RHT 8 o1l g1 37 YA U fom1 ITahT = a1l &l -
IS (RER) BT Sl § | STHIGT Ufased U I 3 Aol & YT o] B, fofg o G
T T R Wohd & 1 S fore. AT SR 3 (UY) T8l & | ST quT IUHIEl &
&9 YT UfchaT & gRT RITTUd 814 aTeht el ge ol ¢ | TH H, S UHR &1 avgsi &l Suasy
FRAM & foTT TRBHR BT AT 37T TR 7 |

faT Mg ey 3 W 9 & SR W, Fafefad wal & Iw e
(@) PR GRIT ATdSI-1dh GXg3N B! UG BT AHGTIS HedIul TR THIG S8y
FR: Ardei - avgeit A darerd 39 a¥gail 3k Aarsif A § g IR a3 gRT Suas T
a1 =1 Jwar 31 Arde-e axgaeil & T WRER &1 UraY 39 axgeil B Sudsdar
GRAf3a Ha1 8 a1 Ife® U I SHa1 gRT UM fohaT 5 T § | U safad gRT
TSP I DT ITANT G & 1A IHD IUART B JUASUAT DI HH el BN 3(: TH A1Y
®3 AT 3BT ATH 33T Thd &, IYT, TSIAP Hearor ¥ gig gidl 3|

(X W DI TP 1Y 3ifdhd fvar 9m)
(@) 1TSS ([RER) BT GRUTNT ST | Fraet-d awgsit & deH § h1-I58d gRT Sdd
AT &1 RS Dol |
IR ATAA D ag3l BT SUHNT B & AT YA 1 B a1 STARTDHAlSi Bl Wh1-
IASSH" & U H ST ST 8
AT ATdSI e a¥geii & g a8t #d § e A aege wit & fore 3o Suasy
Tl € 1| TRPR P Wil IR-SUaTei-Id(non-excludable) TXRIY IUAR] FRM & T gxaaq
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FRAT A1, TN A U ARl & T | 81 il 81 39 UPR, Ao axgaii
F1 AT YR WRPR gRI 98- fHa1 Srar g

LCCRCH
HRGH nfde fapr
18. | Fofelaa & 4 g y/fob=1 Ayl A snfdes faerg & forw daadfa dier gfal &1 urer fobar ur?
(el fawed &1 Tgq
(i) YRd (i) =
(iii) UTfepaT (iv) T T AR
fa@we:
(A) (i), (i) 3R (iii) (B) (i) 3R (iii)
(©) (i) 3R (iv) (D) Ha (iv)
ITR: (A) (i), (ii) 3N (iii)
19. | FAIRId U=l &1 AFYdD UlgT
FYT 7 ATR T T AR 2, @WW@WW%W@M@WWWW
3T B3 H & FT ]
P 2: 4itih 98 & S, U I Ja1el gRT Yeovel TR TG (GDP) | GNTe Sl g
f3T T Byl & sireliep |, afRad @ 9 wgt fadwey &1 994 SIS
(A) PYT1 I 8 IR PYT 2 3T &
(B) HYUT 1 3T & 3R YT 2 I §(C) HYT 19 2 1 I &
(D) YU 19 2 IFI 3T &
IR (C)PYT 1T 2 HI &
20. Hhdd P! TP g ASHITaD U A § SRS HRTER! &t A & U
# gRyIia far o g g1 (et =M &1 gfdl & o Wet fased o1 7o Sifor)
(A) 3mfife (B) Tqc=IdT
(C) WY (D) SHHIRSTD T
IR (B) WdFdl
21. | 2d»ifa Y GSfd B
(e = &1 gfd & o a1 faded &1 997 Sifo)
(A) SRTAT (B) Ao OTa
(C) g™ JdTe (D) U] U1
FTR: (C) 7Y IUTeH
22, |dHT, & I, PUD! DI T8 Wd §-H & 1018 T{eD YH UGH &I T3, Ford
3 IaTe T 81 3R 9 HiY IS TTH HR e |
(e = 31 gfd & forw Tt faded &1 994 Sifom)
(A) TG PV yomeit
@ PEIHOR
(C) Held HdeR] slxaplde enlid
(D) B wifd
IWR: (B) FHA HUITert
23. ﬁgﬁf@%qmﬁﬁ-w%m(A)ﬁ?W(R)ﬁmﬂwmlﬂ%mmﬁWﬁ@rw

WWW(A) - gY 1921 P! HEM fIHTSIP TN (Year of Great Divide) B8l SIIdT g |
PRI (R): T 1921 & IWId, URA P! S-ESAT 3ig a2 H g Selan] gs A

(A) 3P (A) 3R BRI (R) GIHI T & 3R BRI (R), HTHBYT (A) B! Jet SRS Bl 8
(B) a{gwu:r (A) 3R BRUT (R) SHI T &, AT BRI (R), THBYUT (A) BT Tet ARST 77T
HIAT S|
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(C) 3HBYT (A) T B, AP BRI (R) 3T &

(D) 3ITHBYT (A) 3T ©, A RO (R) T B

IR: (A) AFHBYT (A) 3R FRUT (R) I A @ 3R BRI (R), 3FUBYT (A) B Hgl
TR BT 8

24,

B EEL T YT U BRAS' (GLF) TG Bt w31d $i At
(et R Bt gfdl & o T8 faded o1 7o Pifom)

(A) 1951 (B) 1955

(C) 1958 (D) 1962

JTR: (C) 1958

25.

Wwﬁ%w@r%%a@m@w@mmﬁ@mmﬁ:ﬂﬁw
.
3 WYRUI: & =Y T S AT 8 |

(et R BT gfdl & o T8 faded o1 oo Bifo)
(A) BRd wifd (B) Yf& it
() fowa iR (D) Ao wifd
IR: (B) Y u=fta=

26.

Al o &1 3 oY § TRSR gRI DN [dUUH T YR & o7 ST 7T JURT &1
(5! fdhed BT IgH BifoIY)

(C) uRag gfaemd (D) I BT TR

T [FFf@d oy oo elPaiea goienfdal & fov vy @26 & &7 av 8/

T BIforg b, FEfaRad & 9 SH-I1 TRHR gRI SN f9uH & R & AT o= g
Ui A TS a7 81

(A) T8HRI BT AiHfar

(B) R-fafafg (unregulated) dTSIR

(C) V&R ufae gfaumd

(D) YT BT TR

IR (B) IR-fAfaf¥d (unregulated) I9IR

27.

UgaH Pifore [P, Fafafaa 7 9 o5-91 IeRieu & I8t UeR T URHINT Hdl g
(el famed &1 g Hifog)
(A) TSP & & IUHH! (PSUs) & URT & U G BI THHRA foreh!
(B) QY fI%y & T afefq wpimRr
(C) 3TaRT P AT &7 TR TRPR GRT AT 7T Ufdsielf bl g
(D) 3T UTaRITI TR &7 1
IR (C) SrdauawyT & fafda &= R PR gRT @ ¢ ufadey &Y gemr

"= I & SRM, Iha TR IUTG (GDP) H 3ie & &1 GNTeH 98¢ $HH 8T AT
30 IR & T § 019 ! Afed 4T T Hu= &1 shifad Rig s
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IR: fafewr oa & siaeta, shuf e TWeR 91 srafRua fsterfiewor fifs & srRu
YR P NP &7 AfaHRa IgT1 S BT 969 URd &) $= A P (Haide i
fafewr e & QR Ard &1 TR I9E1 411 fafewr ifeat & srRur yRd Rieusarn
ST o1 W U= g1 TUT YoiliTd ST 1 STHTT 11 X1, ForTs T d e SIS (GDP)
H g1 ANTeH A4 @I (IR IR P TP T1Y 3ifdd far o)

3T

"fofe=T I & Sfaria SMUTRS WA & AP & U SRIeh Ahg YRd & AR &l
gfarct AUt vem &1 1 g fafid SfiufafRes fRdl &1 ear & g ami

T 31T U T HY= J WeHd 87 30 IR & FAL H 7170 SR AR

IR: g | ¥e1d, BT 3R Teihme SRt girardt gfaemd shufafkie sme & f&al ot
gfd & fore fawfa &t 715 ff | Jsd ik Yord &1 U 3 URd & Hiar J91 & Smanm=
3R T &= | AT wTa M & I FTe T A | 39S Sifafvead, FA SR ITRITIATT
@A & g A iR il o TR gt ey 3t s <f 59 yeR, 39 faw
¥ ND el IEXT URA & @R &) gardt IR weE w1 81, afer [{ftm
SufafRe fEal &t gfef wwar ari (X SR DI TP 1Y 3ifdhd far 9m)

29.

?wﬁ;%wwmmﬁsﬁﬁﬁw%@aaﬁm@ﬁwaﬁ&mq@ﬁw
& 5|

TETIdT Hdl g1 98 Srdaawyr # fawpRy ok e} & uiearfed $3dt 81 5 UeR,
Rrfara s wfea 3t SuaIaT 13 dB-d & ATY TH-GY 31 JIAUT U™ Hdl 1 Rren &
IO A YT a1 SN fET T FHIYAT BT dga IUUNT HI BT IR USH HId
3 fored W1y & anfifes faor &t sgrar farerar 31

(X SR DI T A1Y 3ifdpd fbar 9)
Aie: AgcfEd vy dac eparaa giemdar & v 7y G 29 & R W §1
A Yoit (|70 & 9id & &9 | "Rren & oz & aren S|
IR: FR1em ArTfore SR axfe wifa &1 U= JUT 3P STP A1y JTHEY RTfd
P39 H HETdl Fd! 21 U AdawT # NfAwpRY 3N TarER) &) Merfed ! 8|
39 v R, Riféra yw wfe 3t Suawiar 98 aH-1e & A1d JU-99 BT JRAYT UM Hedl
2| F1em & ATeHw | Ut a1 PN AU T FHTYAY BT 9gaR SUART HIA BT AR
WG T g Ford Y & 3 faera &1 agrar e g

(X SR B! Te A1Y Sifdpa fbar wm)

30.

"SFTIETR &5 & ol TR &3 H STe ISR Uel BT HTaRaH g 1"

Y TP GRT IUGFd B Bt gfY Hiforg|

IW: SuaiRe &5 & Rt 4fie T 991 IHd § auT 3= SR a9 iR 3=
AT YR&T SURK 1 RPN T 31 TT gudl 3R, U &7 & 4ife! oI
frafira ema € frercht 21 399 sifafted, 3= TR @ o1E JRan/fraw ura 7 gin
21 33 R, 4ftrel &1 for fassdt arfagfe & FReawRia faran s wwar 81 3afeng, sivafie
AT & FHAR AW FETR® &F & HHaal 1 gar # dgar RAfa # g1 2
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3, YRS & P I YRS &7 A AR U1 BT TaqP ¢
(IR SR D TP 1Y Sifdva forar 9m)

31.

U =1 Gl HRUN 1 e BifoTd fofds YR TR 94 | 11 [drg 1 did 3ig g3 |
FR: O A nfife faprT &t wieanfed #e- arel &t sRur fFAafafad &

o IR TR H, $iY, fAe=h R ik fFaw &= ¥ gur smy f¥u e 31 iy
H, IeIie i &1 s1e-sic y@si d fawfoa fear mar o1, g aafdama
TRaRI #i smafed farar mar ¥ ([uAhT & fore 71 9t wifira & forwy | 3% fAaifva
BRI BT YT B3I & 16 YA A 1 arelt F3ft oma &1 3= @t srgafa & g <&t

e TIC & WU A e &7 A YR = fpu e A e & 3wl (R
ATfe® WA arelt 9YT 39 gRI ddTierd) DI aegsil &1 IdTed HIA i

eqqﬁra&némﬁwqu,wn%wﬁamﬁwﬁaﬁuﬁwufwm

HT IS (3T PIg IUYEd R & forg WY 3i ueH e o)
32. | "21df TdTec! H X1 H YRUNT fAdHRT SR W1 YRET D! T B | YT Uit T
@) AT AT Faveht g1"
f3T U U= &1 a9 ad! & 1Y 3T Rig difom|
TR TNPR DI G SRIRET P SATRIBT aTel &A1 BT T H ATl HRb AT
TNt (IT) T gyl YRAST AT Iad! 8 1 G- 3R Aitedur SUSRUN &1 SUaRT

Wﬁuﬁﬁaﬁmmﬁ%ﬂﬁmmﬁ%ﬁmwwmaﬁmm%lw
TRt IHE de-iel, I, T iR At waal @ 3T & fore ger #
a3 3nfe & IR H ISR TG #31 # Y gl
(X SR I T A1Y Sifdpa fHar )
3T

IO fdepT H e Ul & Hed I ARAT Hifod |

IR: ATHIUT 3rforawyT @1 faT WReT U ¥ IHY-9HY R Hi 3 R-5fY &= d 5=
mmmﬁ%ﬁqqﬁﬁ%ﬁﬁmwﬁmm%lﬁ@ﬁﬁmﬁm
TP & 918 TG B 95 B A HTH! ddl gt 2, TURrg, 9w, Sde, TP
RN A= enfe & a1y a1y o= wiikarie @l & 1 #34 & fore anfior wor #t
TRl il 3| (R SR B! Tw A1Y 3ifpd fbar 9y

(i) "3BT HRT & oTT had YhRIHD URUTH dTelt T UfshaT gt g1

fau U YA B AR WiYHR & 1Y IHLT 3ryar e Sifv|

IR: feu T Sy &1 @sA forar wimar 81 Afiwzor 9 ufspar A R srfouaw & ferw

APRTHAD 3R THRIHS g1 TRUMH I fPT 2|

Wﬂ?gaﬁmﬁ,mamaﬁ,mmﬂmwuﬁ@ﬁﬁw

TSI TGS B

3% faudia, amﬁmmﬁ%mmwﬁmmmmm

Waﬁnﬁm foredt 37 gl &t P HT0T § JHSNAT HIAT UST | TRUMHEGRST,
aww@%nmm%mmsﬁﬁmﬁgél

(if) "adAdT SWRIA Al § BN & H foiferal & I o T BT T8 T g ATl

T 31T 3T 7T HYF T YA 87 9Y WDHRU Agd U= IR BT qHf= Siforu|

ITR: 3gHd | faenfer & S @ $Y ¥ 9uar &1 a8 T ave @ T 8 g, Rife

$o g3l # gdadi FHigRT A ST Bt Wifral 1 a4 IoTaR Y & 93 & U= (U

WWWIﬁWﬁQWWﬁWWWWGﬁ?@m
e B g1 U qaraT| 99 fpari &1 Y o1 w@rfira e, 99 f gea [da oY

nmgﬁﬁqﬁrguﬁﬁﬁémuqﬁﬁml (X W DI T 1Y 3ifdpa fbar smg)

STYdT
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(%[) "PY JuaH BRI fad R HRY 11 STAd &, WG I8 (e T AHid ! & g sraxasw

|
3T U Y= o1 9y Wi¥HU F Y N R i

ITR: P IUGH BT AR YR ITXPR GRT ISTT 7T U faaR=Ma HeH oIl

PV IuSH AR T@H & U& H ab:

- STUHIR (BIE 3R i) PUD IUGH & {31 7E P 3ira T # werw -TEl &

qTEH |
PV IueH & fques & ab:
« UT9: TE a f&ar oiran 3 {6 $i Sue™ A sevads framl 1 Ierdr &34 3t gar o
Wa@ﬂﬁsﬂwmaﬁél
RSN & forg Y 8w e g o)

%ﬁﬁﬁ%q&ﬁfﬁéwmawﬁwek gmﬁmmﬁ@wwﬁmﬁ
|
ITR: Y I (SSI) 7 YR @ fasra arn § weayet yfireT Aurs 81 ss1 &1 &4 goit
P ARSI gidl ¢ 3R T AARFG 47 YU T &1 59 UPR, YR oIl YH-UTR
SrfaRIT #, IgI AT 3R 258 AT &1 | ASHIR & 3awR S fhT &1 51 St
o 9adT 31 F forg, 399 e o wxgait &1 Iaured Rféa fvar mar iR 3% +H
IS [P 3R HH TS 631 IR 9P HUT ot Jiaemd off & 75

(X S DI T 91Y 3ifdpa fbar sg)

1%

1%

34.

frgfaied g & eaFgde et

I & Ted gU HIe- Ucida! (footprints) & HRUT, STAA Ydbe H UHE NGHGAl & &4
 faggd a SwuTa &= gRET! d 67 8| STararg aRad &1 gl 3 89K TN a awiisii &
HIa UaTegl (footprints) B HH ®HR- aTel W13 @ Uicharsil &1 Ura &b &l fAuel ST Jabdl
21 g g fag-uwor § g dya 3|

BRd fad-Uv0T 7 ST Araei-, Feft 3R IR-ATHeRT &7t ¥ yRufiiy faer & fou faxdia
TATE (SfhTT, ATSshl-hige, i 3R Faw |) TR & Ser Bl

3y B fo (aieet i Wz 3 off R Hufat &1 dieT &1 T R fear g1 Ay
I fad TRIM 3R 47 (58) IR Fholl 3R od-faggd ot aRarsmrstt & fore Tt a=f R
Srferfere g @fedt ik Hur gl 1 & e TR 7|

eftd o yafaror ot 1qurasy, e fawry g foxfia el R TeRIeT® UHTd ST bl 8, St
ghﬁ&rszawﬁmw%ﬁaﬂﬁ%ﬁ@f%ﬁ NTETSY 719 IToi Bl HH DHIAT, FHoll qardl §
JYR A1 7 e srferawn & gig HrTl

faU 7T 7 9 IR IH & YR W, Fafeiad gyl & IR o

@) g fod &1 3 9 IR &1 Ik Piforg|

IR: gRa o 97 wursit oiv ufparsit &t Teffa wwar @ e wreqa s ik
UIITI] §RT BT UGG 1 HH B & fore fovar wi=r anfge|

gha faw &1 Sexa ardwfae, el sk R-arusR! &=t @fd T, arswi-wise, dur sk
famn @ yrvitg e urufiearsi 91 ok fa<ta yare & wR F seAT 8|

@) gRd fag-uwr & el & el R == Sifou|

IwR: g fa=-uivor & @y fRaferfaT &
-mmﬁ?m%mﬁﬁmm%wmﬁmﬁmwwﬁ
THIAT HaT B

. g faw eRa srdeuawi Y wicarg=T 37 areft ulRaisrsit & A< $3& i gerar &
YR T 2|

(3 13 SuYad a1y fore ot siw e foe =)

1%

1%

* % %
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